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FACTORIZACIÓN

3X²  +  21(X-3) 3X (X + 7) Factor común

(x+-a)
n

https://www.youtube.com/watch?v=athYuPXPkeY

https://www.youtube.com/watch?v=athYuPXPkeY
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x c

2,23606798 -3 -0,76393202 0,58359214

2,23606798 -3 0,58359214

5 -6,70820393

-6,70820393 9

5 -13,4164079 9

0,58359214

(x - a)
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2x + 3y

2x - 3y

x² x xy y

2 -3

2 -3

4 0 -6 0

-6 0

4 0 -12 0

4x² -12xy

4x²-12xy9y²





1 5 10 10 5 1

x⁵ -5 x⁴a 10x³a² -10x²a³ 5xa⁴ -a⁵ 4 2 16

4 3 64



4 4 256

4 5 1024

4 6 4096

4 7 16384

4 8 65536

4 9 262144



( x -a )
 n

Triangulo de Pascal

( x -a )
 1

( x -a )
2

1

( x -a )
 3

1

( x -a )
 4

1 4

( x -a )
 5

1 5

(X + 4) 
4

1 4

4

x 4 x³*4

y² 16x³

x⁴ + 16x³+96x² +256x +256

9

9

9y²
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1

1 1

2 1

3 3 1

6 4 1

10 10 5 1

6 4 1

6x²16 4X64 256

96X² 256 x


